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Full Marks : 40

The figures in the margin indicate full marks.

Candidates are required to give their answers
in their own words as far as practicable.

. Group - A

Answer anyfwe of the following : 2x5=10

1. Define the mobilif of charge carriers in a semiconductor.

Why is the mobility of the hole less than that of the
electron? 2

2. What do you mean by ripple in case of full wave

rectifier? How can you reduce it? 2

3. Sine wave of 10 V peak value is applied at the input
(Vin) shown in figure below. Sketch output wave (V0)
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of the given figure.
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